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Read the text. Then choose the correct
answer for each question below. Snow is
composed of ice crystals. These crystals
fall from clouds in cold weather when the
air is too cold to melt the ice crystals into
rain. In most of the world outside the very

hot tropics, most rain starts to fall as
snow but melts to rain on the way down.

The heaviest snowfalls occur when the air
temperature is close to the freezing point
at 32°F. For this reason, more snow falls
on the northern United States than at the

North Pole because it is too cold at the
North Pole for snow to fall. Snow can be
as much as 90 percent air. For this
reason, snow helps to keep the ground
warm and protect some plants from
extreme cold. Because so much of the
snow is composed of air, it takes about
ten inches of snow to equal the amount
of water in one inch of rain. Al
snowflakes are six-sided crystals, with
some occasional needles or columns. One
farmer and amateur scientist
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contains many vitamins. These vitamins
are often destroyed in the process of

cooking. According to the passage, why

is convenient food considered not safe?

@ A Itis properly prepared. @

C) Itis not suitable for young people.

D) It must be eaten within a short time.

10/ 40

Choose the best answer. Making ones ...
is important for ... being.

@ A) nerve/person @

B) brain/creature

D) brain/person

1740

Choose the right word. Reading this book
is waste ... time. It isn't worth reading.
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12/ 40

Choose the answer which correctly
completes the sentence. Look at that girl
who is on the stage. She is a friend of .....

® mme (§)

B)my

D) myself

13 /40

Choose the answer which correctly
completes the sentence. It would require
permanent, steady and patient activity to
cultivate a new attitude ... people's minds
towards work, life and society.

@ Won(®)

C)in

D) up
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Choose the answer which correctly
completes the sentence. | have got
nothing else to offer ... my advice.

@® Afor (W)

B) since

bt (&)

D) or

15740

Read the text and answer the questions

according to it. These days many people
often eat convenient food. This means
food which is already prepared, in packets
or cans, or often frozen. This type of food
s considered dangerous as it often
contains a lot of fat or sugar. If people eat
a lot of sugar, people might get holes in
their teeth. Similarly, if people eat a ot of
fat, this is bad for their hearts. The best
food is fresh, natural food such as fruit
and vegetables. Instead of frying food in
fat, people should boil it or eat it raw, as in
salads. Food which has been boiled often
contains many vitamins. These vitamins
are often destroyed in the process of
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are often aestroyed in the process or
cooking. According to the passage, what

does the author suggest people eating?

@® A convenient food ()

B) food in packets

D) food cooked in oil

16 / 40

Choose the right answer. Yesterday
John's car broke down and he took it to

the service centre. He ... there.

@© A hadservicedit. ()

B) was serviced it

C) did it service

17/ 40
Read the text and answer the questions
according to it. These days many people
often eat convenient food. This means
food which s already prepared, in packets

or cans, or often frozen. This type of food

e o eirdarad e e o [ nfram
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fat, this is bad for their hearts. The best
food is fresh, natural food such as fruit
and vegetables. Instead of frying food in
fat, people should boil it or eat it raw, as in
salads. Food which has been boiled often
contains many vitamins. These vitamins
are often destroyed in the process of
cooking. All of the statements are TRUE
about convenient food, EXCEPT . ...

B) Itis often frozen food

©) Itisin packets or in cans

D) Itis already prepared food

18740

Choose the best answer. This translator
is said a lot of novels from Persian to
Uzbek.

B) translates

©) translating

D) translated
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Choose the correct answer. It has been a
long time since we ... each other at a
wonderful city of Los Angeles.

@ A are meeting @

B) meet

D) have met

20/ 40

Choose the answer which correctly

completes the sentence. ... his coffee, he

made his way to the door because he had
planned to go the library.

@® A) being drunk ()

B) to drink

D) drink
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Choose the best answer. One Problem is
that we don't have ... officers on the
streets to protect people.

© A many (®)

B) alot of

C) such

22/40

Choose the best answer. We ... with our
friends if there ... a spare room.

@ A could stay/had been @

B) could have stayed/was

D) could stayed/were





image102.png
23/40

From the marked areas 1, 2, 3 and 4,
identify the one that is wrong. The Nobel
Prize winner, accompanied by,(1) her
husband and children, are(2) staying in

Sweden until(3) after(4) the presentation.

2440

Choose the best answer. She said | ... as
well ask him.

B) should

C) can

D) may
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Choose the answer which correctly
completes the sentence. Raining non-
stop could have caused . . ..

@® A the hurricane ()

B) the flood (d)

C) the fire

D) the earthquake

26 /40

Read the text and answer the questions
according to it. Spices were known to
Eastern peoples thousands of years
ago.Arab traders skilfully kept a secret
the true source of these spices. Spices
became valuable items of sale early in the
evolution of the spice trade and were
introduced by Arab traders to the West.
The initial uses of spices in very early
times were in medicine and in the making
of holy oils. People believed in the cure of
spices, in a powder form, in the Middle
Ages and even brought them into early
medicine. It is not known when spices
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preserve and flavour food slowly spread
through Europe. Finally, in the last third of
the 15th century, the Europeans decided
to build ships and dared to go abroad in
search of a route to the spice-producing
countries. According to the passage,
initially, spices were .

B)  sold for very low prices

C) grown by Arab traders

D) given in exchange for oil

27/40

Choose the best answer. Gloria never
seems to get tired. | sure wish I... her
energy.

® A wouldhave ()

B) had had

C) have had

D) had (4)
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Choose the correct answer. It was my
fault. We ... at seven, but | wasn't able to

come in time.

C) can meet

D) had to meet

9/40

From the marked areas 1, 2, 3 and 4,
identify the one that is wrong. The Nobel
Prize winner, accompanied by,(1) her
husband and children, are(2) staying in

Sweden until(3) after(4) the presentation.

D)3
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Choose the answer which correctly
completes the sentence. Snow and rain . .
. of nature.

B) is phenomena

D) are phenomenon

29 /40

Choose the right answer. Let me know if
you hear from her, .2

B) do you

) have you

D) will you
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Read the text and answer the questions
according to it. She liked flowers. At least,
he remembered somebody telling him
that she liked roses. Unfortunately, at that
time of year roses were very hard to find,
and anyway, even if he did find them he
wouldn't be able to afford them. No roses
and going out to a good restaurant. So he
had got some tulps. It wasn't sure if tulips
were the right things to bring, and also
while he was traveling in the bus several
people bumped into him and the flowers
were damaged. He felt uncomfortable in
his borrowed coat, and even though Mike
had promised him that it was almost a
perfect fit he felt that the sleeves were
too long. He checked in his pocket again
to make sure he had her address. He still
was not sure why she had given it to him.
For a few minutes he thought about giving
the whole thing up, going home. But he
knew that this chance would not come
again, and he would hate himself if he did
not take it. Slowly, he walked through the
rain to her street. What would be a good
title for this text?

@® M) Mike goes to visit his friend. ()

B) Finding the right address.
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‘ C) Travelling on the bus.

31/40

Choose the correct answer. She ... to
America for two years, but now she's

back.
B) would go
) had been
D) went

32/40

Choose the answer which correctly
completes the sentence. Don't walk on
the grass, ... ?

® A)doyou @

B) are you

) have you
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Choose the answer which correctly
completes the sentence. One of the . ..
from ltaly.

@® A student are (§)

B) students are

C) student is

34/40

Choose the answer which correctly
completes the sentence. | saw a few
people, most of ... were carrying an
umbrella while it was raining.

@® Mwho (B)

C) which

D) whose
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Choose the answer which correctly
completes the sentence.

A:‘Don’t you know I'm a football fan?"

B:

@ A)Not, did | @

I shout for Barcelona.

B) He is too

D) Either do |

36/40

Choose the best answer.
A: Could | have your tape-recorder,
please?

B: Yes, you ... .

® A mignt (W)

B) could

C) need
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Read the text and answer the questions
according to it. She liked flowers. At least,
he remembered somebody telling him
that she liked roses. Unfortunately, at that
time of year roses were very hard to find,
and anyway, even if he did find them he
wouldn't be able to afford them. No roses
and going out to a good restaurant. So he
had got some tulps. It wasn't sure if tulips
were the right things to bring, and also
while he was traveling in the bus several
people bumped into him and the flowers
were damaged. He felt uncomfortable in
his borrowed coat, and even though Mike
had promised him that it was almost a
perfect fit he felt that the sleeves were
too long. He checked in his pocket again
to make sure he had her address. He still
was not sure why she had given it to him.
For a few minutes he thought about giving
the whole thing up, going home. But he
knew that this chance would not come
again, and he would hate himself if he did
not take it. Slowly, he walked through the
rain to her street. All of the following
statements are FALSE, EXCEPT. . .

@ M) He haslost her address. ()
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B) Heis going to see his mother.

D) The jacket on himis very

uncomfortable.

38/40

Choose the correct answer. The
underestimated demand for tickets made
the theater manager ... better for the next

performance.

B) planned

©) planning

D) to plan

39/40

Choose the correct answer. Take this
photo, . .. you can remember me.

@© A despite ()

B) before

C) therefore
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Choose the correct answer. | met your
sister last night. She thought we'd met
before, but we ... .

B) met

C) wouldn't

D) had met
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as much as 90 percent air. For this
reason, snow helps to keep the ground
warm and protect some plants from
extreme cold. Because so much of the
snow is composed of air, it takes about
ten inches of snow to equal the amount
of water in one inch of rain. Al
snowflakes are six-sided crystals, with
some occasional needles or columns. One
farmer and amateur scientist
photographed thousands of snowflakes
through a microscope. He was trying to
find two identical flakes. Neither he nor
anyone else ever has. Snow often melts
slowly because the white color reflects
sunlight away. The most snow in a single
storm in the United States was 189
inches. It occurred at Mount Shasta,
California, in February 1959. Antarctica is
buried in an average of two-and-a half
miles of snow. About how much air is in
snow?

@ A) 10 percent @

©) 100 percent

D) none
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Choose the correct answer.... an accident
in the High Street, traffic is moving very
slowly on the London Road.

@® M since (W)

C) Because

D) Though

1740

Read the text. Then choose the correct
answer for each question below. Snow is
composed of ice crystals. These crystals
fall from clouds in cold weather when the
air is too cold to melt the ice crystals into
rain. In most of the world outside the very

hot tropics, most rain starts to fall as
snow but melts to rain on the way down.
The heaviest snowfalls occur when the air
temperature is close to the freezing point
at 32°F. For this reason, more snow falls
on the northern United States than at the

North Pole because it is too cold at the

North Pole for snow to fall. Snow can be
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Choose the correct answer. Many kings ...

in Westminster Abbey for the past

centuries.

B) are coronated

C) had coronated

D) coronated

13740
Read the text. Then choose the correct

answer for each question below. Suppose
your teacher gave you an assignment to
add all of the numbers from 1to 100
without using a calculator. How long do
you think it would take? You could do it in
about 30 seconds. Here's how: Add 1 plus
100, which equals 101. Add 2 plus 99,
which equals 101. Add 3 plus 98, which
also equals 101. You re adding 50 pairs of
numbers, which all equal 101. Therefore,
you can multiply 50 times 101. This equals
5,050. Multiplication, of course, is simply
a fast method of addition when you use
the same numbers. The mathematician
who worked out this particular problem

was named Carl Gauss. He lived from
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1777 to 1855. As a college student, he
discovered that a seventeen-sided figure
could be drawn with just a compass and

a ruler. This was thought to be
impossible. During his lifetime, Gauss
made many discoveries in the study of
numbers and shapes. He studied the use
of statistics. This is the science of
collecting, using, and studying
information from real events in life. Gauss
also studied stars and planets. He
became famous for discovering the orbit
around the sun of the asteroid Ceres. See
if you can add all the numbers from 1to

100 in less than 30 seconds! Maybe you,

t00, will become a scientist or math
expert! Which of the following is an
example of statistics?

B) estimating barrels of oil sold by a

company in a year

©) figuring out grades a student gets over

the course of a year

D) determining World Series scores since

1920
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Choose the correct answer. First libraries
began to appear regularly in the 1800s.
Since then, their contents ... greatly
through the years.

B) has changed

D) is changing

15740

Choose the correct answer. | left ... school
at 17, went to university and got ... degree

in ... economics.

B) the/-/the

D) -/a/the





image12.png
16 / 40

Read the text. Then choose the correct
answer for each question below. Snow is
composed of ice crystals. These crystals
fall from clouds in cold weather when the
air is too cold to melt the ice crystals into
rain. In most of the world outside the very
hot tropics, most rain starts to fall as
snow but melts to rain on the way down.
The heaviest snowfalls occur when the air
temperature is close to the freezing point
at 32°F. For this reason, more snow falls
on the northern United States than at the
North Pole because it is too cold at the
North Pole for snow to fall. Snow can be
as much as 90 percent air. For this
reason, snow helps to keep the ground
warm and protect some plants from
extreme cold. Because so much of the
snow is composed of air, it takes about
ten inches of snow to equal the amount
of water in one inch of rain. Al
snowflakes are six-sided crystals, with
some occasional needles or columns. One
farmer and amateur scientist
photographed thousands of snowflakes
through a microscope. He was trying to
find two identical flakes. Neither he nor
anyone else ever has. Snow often melts
slowly because the white color reflects
sunlight away. The most snow in a single
storm in the United States was 189
inches. It occurred at Mount Shasta,
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California, in February 1959. Antarctica is
buried in an average of two-and-a half
miles of snow. According to the passage,
most rain starts to fall as snow but melts
to rain on the way down in most of the
world except...

A) the city

C) Antarctica.

@ D) the desert (#)
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Choose the correct answer. If they had
eaten breakfast earlier, they... so hungry
now.

B) hadn't been

C) weren't

D) won't be

18740

Choose the correct answer. The
international criminal Jimmy Rosendale is

reported ... in Ireland now.

B) to have lived

C) to be lived
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Read the text. Then choose the correct
answer for each question below. Snow is
composed of ice crystals. These crystals
fall from clouds in cold weather when the
air is too cold to melt the ice crystals into
rain. In most of the world outside the very
hot tropics, most rain starts to fall as
snow but melts to rain on the way down.
The heaviest snowfalls occur when the air
temperature is close to the freezing point
at 32°F. For this reason, more snow falls
on the northern United States than at the
North Pole because it is too cold at the
North Pole for snow to fall. Snow can be
as much as 90 percent air. For this
reason, snow helps to keep the ground
warm and protect some plants from
extreme cold. Because so much of the
snow is composed of air, it takes about
ten inches of snow to equal the amount
of water in one inch of rain. Al
snowflakes are six-sided crystals, with
some occasional needles or columns. One
farmer and amateur scientist
photographed thousands of snowflakes
through a microscope. He was trying to
find two identical flakes. Neither he nor
anyone else ever has. Snow often melts
slowly because the white color reflects
sunlight away. The most snow in a single
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storm in the United States was 189
inches. It occurred at Mount Shasta,
California, in February 1959. Antarctica is
buried in an average of two-and-a half
miles of snow. When does the heaviest
snowfall usually occur?

(@ A) when the temperature is as cold as the

North Pole ()

C) when the temperature is above 50°F

D) when the temperature is near 0°F
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Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
Animals that become extinct are no
longer found on Earth. Woodpeckers have
sharp bills for drilling into wood, and
short tails which help to balance them on
tree trunks and branches. Woodpeckers
also have very long tongues, which help
them get insects deep within trees.
Woodpeckers are often heard knocking
loudly on trees before they are seen.
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
why do woodpeckers have long tongues?

B) to eat seeds in the bird feeders
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Choose the correct answer. | don't think
these scissors are sharp enough to cut
this material with, ..2

B) aren't they

D)dol

22/40

Choose the correct answer. | suggested
that Mike .. for another job as his current

work had no prospects at all.

B) would look

D) looking
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Choose the best answer. “How did that
window ..2" “I don't know”

B) broken

C) broke

D) breaking

2440

Read the text. Then choose the correct
answer for each question below.
Suppose your teacher gave you an
assignment to add all of the numbers
from 1 to 100 without using a calculator.
How long do you think it would take? You
could do it in about 30 seconds. Here's
how: Add 1 plus 100, which equals 101.
Add 2 plus 99, which equals 101. Add 3
plus 98, which also equals 101. You re
adding 50 pairs of numbers, which all
equal 101. Therefore, you can multiply 50
times 101. This equals 5,050.
Multiplication, of course, is simply a fast
method of addition when you use the
same numbers. The mathematician who

worked out this particular problem was
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named Carl Gauss. He lived from 1777 to
1855. As a college student, he discovered
that a seventeen-sided figure could be
drawn with just a compass and a ruler.
This was thought to be impossible.
During his lifetime, Gauss made many
discoveries in the study of numbers and
shapes. He studied the use of statistics.
This is the science of collecting, using,
and studying information from real events
in life. Gauss also studied stars and
planets. He became famous for
discovering the orbit around the sun of
the asteroid Ceres. See if you can add all
the numbers from 1 to 100 in less than 30
seconds! Maybe you, too, will become a
scientist or math expert! . Which word in
the passage refers to “the study and use

of numbers’

B) data

) astronomy

D) physics
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Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
Animals that become extinct are no
longer found on Earth. Woodpeckers have
sharp bills for drilling into wood, and
short tails which help to balance them on
tree trunks and branches. Woodpeckers
also have very long tongues, which help
them get insects deep within trees.
Woodpeckers are often heard knocking
loudly on trees before they are seen
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
which is NOT true about woodpeckers?

@ A They like sunflower seeds or suet @

B) They will come to bird feeders.
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B) They will come to bird feeders.

) They don't have long tails.

26 /40

Choose the correct answer. “Does he
usually go to the Caribbean Sea for his
holiday?” she said.

(@ A) She asked whether does he usually go

to the Caribbean Sea for his holiday. @

B) She said whether he usually went to the

Caribbean Sea for his holiday.

C) She asked whether he usually went to

the Caribbean Sea for her holiday.
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Choose the correct answer. Before we
leave, let's have Shelley ... a map for us so
we won't get lost.

B) drawn

C) D) to draw

D) drawing

28/40

Choose the best answer. Gloria never
seems to get tired. | sure wish I... her
energy.

B) would have

C) have had

D) had had
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Choose the correct answer. The doctor
says that Jim might have a heart attack if
he isn't going to have his heart ...

immediately.
B) testing
C) to test
D) tests

30/40

Choose the correct answer. He doesn't
seem to care ... the effect smoking has on

him.

B)at

C) for
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Choose the correct answer. Who ... this
phone number? - Sorry, | can't tell.

B) did you give

D) did give you

32/40

Choose the correct answer. A: | don't
believe that the chemical factories can be
perfectly safe. B:

B) Neither can |

D) Neither am |
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Choose the correct answer. My goodness!
.. awful weather we are having!

® A How (B)

B) How a

D) Whata

34/40

Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
Animals that become extinct are no
longer found on Earth. Woodpeckers have
sharp bills for drilling into wood, and
short tails which help to balance them on
tree trunks and branches. Woodpeckers
also have very long tongues, which help
them get insects deep within trees.
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Woodpeckers are often heard knocking
loudly on trees before they are seen
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
the two largest woodpeckers in the world
are....

® A) heard in the woods knocking trees. ()

C) normally found at bird feeders.

D) found all over the world.

35/40

Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
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Woodpecker are most likely extinct.
Animals that become extinct are no
longer found on Earth. Woodpeckers have
sharp bills for drilling into wood, and
short tails which help to balance them on
tree trunks and branches. Woodpeckers
also have very long tongues, which help
them get insects deep within trees.
Woodpeckers are often heard knocking
loudly on trees before they are seen.
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
when do woodpeckers sometimes.
become a problem?

B) When they become extinct.

C) When they visit feeders.

D) When they sit on trees.
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Read the text. Then choose the correct
answer for each question below?
Suppose your teacher gave you an
assignment to add all of the numbers
from 1 to 100 without using a calculator.
How long do you think it would take? You
could do it in about 30 seconds. Here's
how: Add 1 plus 100, which equals 101.
Add 2 plus 99, which equals 101. Add 3
plus 98, which also equals 101. You re
adding 50 pairs of numbers, which all
equal 101. Therefore, you can multiply 50
times 101. This equals 5,050.
Multiplication, of course, is simply a fast
method of addition when you use the
same numbers. The mathematician who
worked out this particular problem was
named Carl Gauss. He lived from 1777 to
1855. As a college student, he discovered
that a seventeen-sided figure could be
drawn with just a compass and a ruler.
This was thought to be impossible.
During his lifetime, Gauss made many
discoveries in the study of numbers and
shapes. He studied the use of statistics.
This is the science of collecting, using,
and studying information from real events
in life. Gauss also studied stars and
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planets. He became famous for
discovering the orbit around the sun of

the asteroid Ceres. See if you can add all

the numbers from 1to 100 in less than 30
seconds! Maybe you, too, will become a

scientist or math expert! . From the
context of the passage, what can you
infer about Ceres?

[=] A) Ceres travels through a solar system

and never returns. (8)

37/ 40

Read the text. Then choose the correct
answer for each question below.
Suppose your teacher gave you an
assignment to add all of the numbers
from 1 to 100 without using a calculator.
How long do you think it would take? You
could do it in about 30 seconds. Here's
how: Add 1 plus 100, which equals 101.
Add 2 plus 99, which equals 101. Add 3
plus 98, which also equals 101. You re
adding 50 pairs of numbers, which all
equal 101. Therefore, you can multiply 50
times 101. This equals 5,050.
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Multiplication, of course, is simply a fast
method of addition when you use the
same numbers. The mathematician who
worked out this particular problem was
named Carl Gauss. He lived from 1777 to
1855. As a college student, he discovered
that a seventeen-sided figure could be
drawn with just a compass and a ruler.
This was thought to be impossible.
During his lifetime, Gauss made many
discoveries in the study of numbers and
shapes. He studied the use of statistics.
This is the science of collecting, using,
and studying information from real events
in life. Gauss also studied stars and
planets. He became famous for
discovering the orbit around the sun of
the asteroid Ceres. See if you can add all
the numbers from 1to 100 in less than 30
seconds! Maybe you, too, will become a
scientist or math expert! Which number
would be added to 91 in the pattern
described in the first paragraph?

@na(®

B) any number

0110 (&)

D)o
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Choose the correct answer. "France won't
win in the chempionship". She doesn't
think France ... in the chempionship.

B) won't win

C) would win

39/40

Choose the correct answer. Look it is
raining cats and dogs outside that is why

itis no good .. for a walk.

B) of going

C)togo

D) to be going
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Choose the correct answer. It has been a
long time since we ... each other at a
wonderful city of Los Angeles.

B) have met

C) are meeting

D) meet
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Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. Rainforests do not give us .. .

B) bamboo.

©) plants.

D) medicine.
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Choose the best answer. In the French
and Indian War, .. is known as the Seven
Years' War in England, George
Washington fought against the French.

B) what

D) that

3/40

Choose the best answer. The committee
are separated from ... families for long
periods of time.

B) his

D) her
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Choose the correct answer.Trevor and
Laura booked a table for dinner. But the
restaurant was empty. They ... a table.

B) didn't need to book

C) mustn't have booked

D) couldn't have booked

5/40

Choose the correct answer. Albert is
seldom in time for his classes.- ...

B) Sois John

C) John isn't neither

D) C) I do too
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Choose the correct answer. Take this

photo, . .. you can remember me.

C) therefore

D) despite

7140

Choose the correct answer. We had our
party ... 7:00 PM ... 10:00 PM.

B) since/before

D) between/until
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Read the text and answer the questions
below. What do you call a long, blue river
of ice? A glacier! Most fresh water on
Earth is in glaciers. Some glaciers never
melt. You can find glaciers in the
mountains. Others cover big areas of
continents. They are home to snow fleas
and ice worms. The top part of a glacier
is snow. The middle part is mixed snow
and ice. The bottom part is ice. You can
take a class to learn how to walk on a
glacier. You need special boots. You also
need a rope and an ice axe. Then, you
can walk on a river of ice! Glaciers are
made up of . ...

@ A snow, ice, and sand. @

B) rivers and mountains.

) snow, fleas, and ice worms.

9/40

Choose the correct answer. There are
textbooks in our library this school year.
In fact there are less of them than last
year.
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Read the text and answer the questions
below. What do you call a long, blue river
of ice? A glacier! Most fresh water on
Earth is in glaciers. Some glaciers never
melt. You can find glaciers in the
mountains. Others cover big areas of
continents. They are home to snow fleas
and ice worms. The top part of a glacier
is snow. The middle part is mixed snow
and ice. The bottom part is ice. You can
take a class to learn how to walk on a
glacier. You need special boots. You also
need a rope and an ice axe. Then, you
can walk on a river of ice! In this story,
the word cover means . ..

© Waqit. (§)

B) put your hands over your head.

C) a bedspread.
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Read the text and answer the questions
below. Where does the word volcano
come from? It comes from the Roman

god of fire. His name was Vulcan. A
volcano is a mountain that blows its top!
Hot lava pushes through the mountain.
Then, it flows down the side. Some
volcanoes are millions of years old. Some
sleep. Others are active. It is hard to tell
when a volcano will blow. Many
volcanoes have snow. If they blow their
tops, hot lava melts the snow. It burns up
trees and plants, too, just like a fire. Who
is Vulcan?

® ) avolcano (§)

B) atree

C) a mountain

12/ 40

Read the text and answer the questions
below. What do you call a long, blue river
of ice? A glacier! Most fresh water on
Earth is in glaciers. Some glaciers never
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melt. You can find glaciers in the
mountains. Others cover big areas of
continents. They are home to snow fleas
and ice worms. The top part of a glacier
is snow. The middle part is mixed snow
and ice. The bottom part is ice. You can
take a class to learn how to walk on a
glacier. You need special boots. You also
need a rope and an ice axe. Then, you
can walk on a river of ice! Where is most
fresh water on Earth?

® A inoceans (§)

C) in lakes

D) inrivers

13 /40

Choose the correct answer. Often people
... remember their childhood with
pleasure choose to forget the bad times.

@® A whom (W)

B) which

D) whose
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Read the text and answer the questions
below. Where does the word volcano
come from? It comes from the Roman

god of fire. His name was Vulcan. A
volcano is a mountain that blows its top!
Hot lava pushes through the mountain.
Then, it flows down the side. Some
volcanoes are millions of years old. Some
sleep. Others are active. It is hard to tell
when a volcano will blow. Many
volcanoes have snow. If they blow their
tops, hot lava melts the snow. It burns up
trees and plants, too, just like a fire. In
this story, the word hard means . ..

B) mean.

) solid.

D) wood.
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Choose the correct answer. My cousin
John carne from Germany the other day.
.10 see us next Friday.

B) carne

D) ave come

16 / 40

Choose the correct answer. | left ... school
at 17, went to university and got ... degree
n .. economics.

B) -/a/the

C) the/-/the
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Choose the correct answer. A: | don't
believe that the chemical factories can be
perfectly safe. B: ... .

B) Soam!

D) Neither am |

18740

Choose the best answer. The swimming
season in Turkey becomes ... the further
north you go.

C) the shorter

D) short enough
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Choose the best answer... of the
contestants was given a topic about
which they'd make a five-minute speech.

C) Some

D) Every

20/ 40

Choose the correct answer. | met your
sister last night. She thought we'd met
before, but we

B) had met

C) met

D) wouldn't
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Choose the correct answer.They ... played
their part in the ... process.

@ A selflessly/history @

B) selfless/historical

D) selfless/historic

22/40

Read the text and answer the questions
below. Where does the word volcano
come from? It comes from the Roman

god of fire. His name was Vulcan. A
volcano is a mountain that blows its top!
Hot lava pushes through the mountain
Then, it flows down the side. Some
volcanoes are millions of years old. Some
sleep. Others are active. It is hard to tell
when a volcano will blow. Many
volcanoes have snow. If they blow their
tops, hot lava melts the snow. It burns up
trees and plants, too, just like a fire. What
pushes through a mountain to make a
volcano?
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B) fire

C) snow

23/40

Choose the best answer. She said | ... as
well ask him.

B) may

C) can

D) should

2440

Read the text and answer the questions
below. Where does the word volcano
come from? It comes from the Roman
god of fire. His name was Vulcan. A
volcano is a mountain that blows its top!
Hot lava pushes through the mountain.
Then, it flows down the side. Some
volcanoes are millions of years old. Some
sleep. Others are active. It is hard to tell
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when a volcano will blow. Many
volcanoes have snow. If they blow their
tops, hot lava melts the snow. It burns up
trees and plants, oo, just like a fire.The

word volcano comes from the Roman god

II=

C) sun.

D) heat.

25/40

Choose the best answer. The politician
about ... lifestyle there has been a lot of
speculation recently has handed in his
resignation.

B) whom

C) who

D) that
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Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. In this story, the word bark

means ...

@ A) whata dog says. @

B) woof.

©) to skin your knee.
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Choose the correct answer. Many kings ...
in Westminster Abbey for the past
centuries.

B) had coronated

C) coronated

28/40

Choose the best answer. | need to replace

... table in my office. Its leg is broken.

B)an

D)a





image51.png
29[ 4U

Choose the best answer. Still having a

sore throat and a terrible cough, Lorna

was barely... to get out of bed, but she
managed to make it to work.

@© A the best ()

B) as good

©) too good

30/40

Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. The rainforest gives people . .
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Choose the correct answer. It has been a
long time since we ... each other at a
wonderful city of Los Angeles.

@ A are meeting @

C) meet

D) have met

32/40

Choose the correct answer. "France won't
win in the chempionship. She doesn't
think France ... in the chempionship.

® A wouldn't wins ()

B) won't win

C) would win
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Read the text and answer the questions
below. What do you call a long, blue river
of ice? A glacier! Most fresh water on
Earth is in glaciers. Some glaciers never
melt. You can find glaciers in the
mountains. Others cover big areas of
continents. They are home to snow fleas
and ice worms. The top part of a glacier
is snow. The middle part is mixed snow
and ice. The bottom part is ice. You can
take a class to learn how to walk on a
glacier. You need special boots. You also
need a rope and an ice axe. Then, you
can walk on a river of ice! What do you
need to walk on a glacier?

B) boots and a raft

©) slippers and a rope

D) snow fleas

34740

Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
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live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. What animals live in
rainforests?

@® A whales (®)

B) ice worms.

D) sharks

35/40

Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
Animals that become extinct are no

\onﬁer found on Earth. WoodEeckers have
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Choose the correct answer. Did you have
an argument with Francis? If you had
been there, you ... the same.

B) had done

C) will do

D) did

2/40

Choose the correct answer. Knowing
several ... helpful if you work for an
international corporation.

B) language is

) language are
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Woodpeckers are often heard knocking
loudly on trees before they are seen
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
when do woodpeckers sometimes.
become a problem?

@ A) When they sit on trees. @

C) When they become extinct.

D) When they visit feeders.

36/40

Choose the correct answer. At last I .
the key that was lost yesterday.

® A amfinding (§)

) had found

D) found
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Choose the correct answer. It was my
fault. We ... at seven, but | wasn't able to
come in time.

® A canmeet (§)

B) had to meet

C) must meet

38/40

Choose the correct answer. | ... a couple
of days ago.

® A had my bike fix @

B) had my bike to be fixed

) have my bike fix





image57.png
39/40

Choose the best answer. We ... with our

friends if there ... a spare room.

B) could stayed/were

) could have stayed/was

D) could stay/had been

40/ 40

Read the text. Then choose the correct
answer for each question below. A
woodpecker is a kind of bird.
Woodpeckers are found all over the world
except in the North and South poles,
Australia, and New Zealand. There are
over 200 different kinds of woodpeckers.
The two largest woodpeckers, the
Imperial Woodpecker and the Ivory-billed
Woodpecker are most likely extinct.
Animals that become extinct are no
longer found on Earth. Woodpeckers have
sharp bills for drilling into wood, and
short tails which help to balance them on
tree trunks and branches. Woodpeckers
also have very long tongues, which help
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tree trunks and branches. Woodpeckers
also have very long tongues, which help
them get insects deep within trees.
Woodpeckers are often heard knocking
loudly on trees before they are seen.
Woodpeckers can even become trouble if
they learn to knock on sides of a house.
Woodpeckers can easily be attracted to
backyard bird feeders with sunflower
seeds or suet. Suet is a kind of animal fat
that is very tasty to woodpeckers and
other birds. According to the passage,
which is NOT true about woodpeckers?

B) They will come to bird feeders.

) They don't have long tails.

D) They like sunflower seeds or suet
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Choose the answer which correctly
completes the sentence. Snow and rain . .
. of nature.

B) is phenomena

) are phenomenon

D) is phenomenon

2/40

The Statue of Liberty, arguably one of
New York City's most iconic symbols, is a
\popular tourist attraction for first-time
visitors to the city. This 150-foot
monument was gifted to the United
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day. When it was first constructed, the
statue was the same color as a shiny
penny! After touring the Statue of Liberty,
Claire spent the rest of the day in New
York City visiting other important
monuments and historic landmarks. Claire
left New York hoping to have had the time
to explore more sites, but she can't wait
to return to the city in the future. From
which part of the statue did Claire receive
spectacular views of the city?

® A The mouth (W)

B) The crown (&)

C) The nose

D) The eyes

3/40

Thanksgiving is a holiday celebrated
predominantly in North America, and it
possesses a different meaning in each of
the countries where it's acknowledged. In
the United States, Thanksgiving is a
federal holiday (meaning all government
employees and most private employees
are given a day off of work), and always
takes places on the Fourth Thursday in
November, regardless of the date. The
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cornerstone of the holiday, as doing so

could only be possible if one possesses

abundance. Which event(s) began the
tradition of Thanksgiving?

@ A) The pilgrims' food-creation success and

targescale celebratory dinner ()

C) An address delivered by President

Lincoln

D) Nobody is certain

4740

Choose the answer which correctly
completes the sentence. Can you tell me
where ... ?

B) John s alive

) is John living

D) does John live
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Choose the answer which correctly
completes the sentence. Barbara said the
beach was twenty miles away, but |
thought it was . . . than that.

@© Malittie (W)

C) little

D) the fewest

6/40

Choose the answer which correctly
completes the sentence. Alice is unhappy
today. She can't study .....

@® A nothing (W)

B) something

©) everything
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Choose the answer which correctly
completes the sentence. I'm not ... that
subject.

@ A interested with @

C) interesting with

D) interested by

8/40

Choose the correct answer. Did you have
an argument with Francis? If you had
been there, you ... the same.

B) had done

C) will do

D) did

9/40

Read the text and answer the questions
below. What do you call a long, blue river
of ice? A glacier! Most fresh water on
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continents. They are home to snow fleas

and ice worms. The top part of a glacier
is snow. The middle part is mixed snow
and ice. The bottom part is ice. You can
take a class to learn how to walk on a

glacier. You need special boots. You also
need a rope and an ice axe. Then, you
can walk on a river of ice! In this story,

the word cover means . ..

® A put your hands over your head. @

B) a quilt.

C) a bedspread.

10/ 40

Choose the answer which correctly
completes the sentence. It would require
permanent, steady and patient activity to
cultivate a new attitude ... people's minds

towards work, life and society.

D) in
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Choose the correct answer. | met your
sister last night. She thought we'd met
before, but we ... .

B) had met

D) wouldn't

4740

Choose the correct answer. Albert is

seldom in time for his classes.- ...

B) John isn't neither

D) C) I do too
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Read the text and answer the questions
below. Where does the word volcano
come from? It comes from the Roman

god of fire. His name was Vulcan. A
volcano is a mountain that blows its top!
Hot lava pushes through the mountain.
Then, it flows down the side. Some
volcanoes are millions of years old. Some
sleep. Others are active. It is hard to tell
when a volcano will blow. Many
volcanoes have snow. If they blow their
tops, hot lava melts the snow. It burns up
trees and plants, too, just like a fire. In
this story, the word hard means . ..

B) mean.

C) wood.

D) solid.

12/ 40

It is important for scientists to sort
animals into groups. It just as important to
sort plants. Scientists sort them by how
they make another plant like themselves.
This is called eproduction. Scientists have
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with seeds. The third group is the plant
that reproduces by flowering. Before
seeds can form, the pollen inside the
flower needs to move from one part of the
flower to another. The seeds form inside
the flower. Birds and insects help this by
moving the pollen when they land on the
flower. Some of the flowering plants grow
into fruits to eat. The seeds are hidden
inside the fruit. Apples, oranges, cherries,
daisies, and roses are plants that have
flowers. Which type of plant group needs
help from birds or insects?

@ A plants that reproduce with sunlight @

B) plants that reproduce with spores

) plants that reproduce with leaves

D) plants that reproduce with flowers (d)

13 /40

The Statue of Liberty, arguably one of
New York City's most iconic symbols, is a
popular tourist attraction for first-time
visitors to the city. This 150-foot
monument was gifted to the United
States from France in order to celebrate
100 years of America's independence.
The statue is located on Liberty Island,
and it is accessible by taking a ferry from
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either Battery Park in New York City or
Liberty State Park in Jersey City. When
Claire visited the Statue of Liberty for the
first time, she instantly admired it as a
symbol of freedom. Claire made sure to
make reservations before her visit
because only 240 people are permitted to
climb the staircase to the top of the
statue every day. After climbing almost
400 stairs, Claire received spectacular
views of the city from the statue's crown.
During her visit, Claire learned that the
Statue of Liberty was not always the color
that it is now. She found out that because
the statue's exterior is made of copper,
the statue oxidized over time, giving it the
greenish appearance it has in present
day. When it was first constructed, the
statue was the same color as a shiny
penny! After touring the Statue of Liberty,
Claire spent the rest of the day in New
York City visiting other important
monuments and historic landmarks. Claire
left New York hoping to have had the time
to explore more sites, but she can't wait
to return to the city in the future. Who
gifted the Statue of Liberty to the United
States?

B) The British
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Choose the correct answer. At last | ... .
the key that was lost yesterday.

® A found (W)

B) am finding

) had found

15740

Choose the best answer. Keep ... the
edge of the pool. You might fall in.

® A C)up with @

C) behind

D) out of

16 / 40

Choose the answer which correctly
completes the sentence. Nowadays most
British children (over 80 per cent) go to
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comprehensive schools which take pupils

of all ... without any exams.

@® A) able @

B) ability

©) abilties (4)

D) able to

17140

It is important for scientists to sort
animals into groups. It just as important to
sort plants. Scientists sort them by how
they make another plant like themselves.
This is called eproduction. Scientists have
decided to sort plants into three groups.
The first group of plants reproduces with
spores. Spores are parts of the plant that
break away and travel in the wind. Each
one grows into a new plant if it lands on
soil that is wet and rich. Ferns and
mosses are plants that make a copy of
themselves with spores. Other plants
reproduce with seeds. They are the
second group. Seeds fall from the trees.
They become part of the soil and grow
into new plants. Evergreens, pine trees,
and fir trees are plants that reproduce
with seeds. The third group is the plant
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that reproduces by flowering. Before
seeds can form, the pollen inside the
flower needs to move from one part of the
flower to another. The seeds form inside
the flower. Birds and insects help this by
moving the pollen when they land on the
flower. Some of the flowering plants grow
into fruits to eat. The seeds are hidden
inside the fruit. Apples, oranges, cherries,
daisies, and roses are plants that have
flowers. Which group of words mean the
same as the word reproduction?

@ A helps us understand @

B) plants the flowers

©) make a copy of tself (4)

D) flowering and pollen

18740

Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
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rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. Rainforests do not give us .. .

B) medicine.

©) plants.

D) bamboo.

19 /40

Choose the correct answer. | don't think
these scissors are sharp enough to cut
this material with, ..2

B) aren't they

C)dol
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Choose the answer which correctly
completes the sentence. By the time
school opens again, I ... in this restaurant
eight weeks.

® A would have to work ()

C) would work

D) would have worked

21/ 40

Choose the correct answer. She ... to
America for two years, but now she's
back.

® A wouldgo (W)

B) had been

D) went
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The Statue of Liberty, arguably one of
New York City's most iconic symbols, is a
\popular tourist attraction for first-time
visitors to the city. This 150-foot
monument was gifted to the United
States from France in order to celebrate
100 years of America's independence.
The statue is located on Liberty Island,
and it is accessible by taking a ferry from
either Battery Park in New York City or
Liberty State Park in Jersey City. When
Claire visited the Statue of Liberty for the
first time, she instantly admired it as a
symbol of freedom. Claire made sure to

make reservations before her visit
because only 240 people are permitted to
climb the staircase to the top of the
statue every day. After climbing almost
400 stairs, Claire received spectacular
views of the city from the statue's crown.
During her visit, Claire learned that the
Statue of Liberty was not always the color
that it is now. She found out that because
the statue's exterior is made of copper,
the statue oxidized over time, giving it the
greenish appearance it has in present
day. When it was first constructed, the
statue was the same color as a shiny
penny! After touring the Statue of Liberty,
Claire spent the rest of the day in New
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many people are permitted to climb the
statue's stairs per day?

® m100 (W)

B) 150

c) 400

D) 240 (&)

23/40

It is important for scientists to sort
animals into groups. It just as important to
sort plants. Scientists sort them by how
they make another plant like themselves.
This is called eproduction. Scientists have
decided to sort plants into three groups.
The first group of plants reproduces with
spores. Spores are parts of the plant that
break away and travel in the wind. Each
one grows into a new plant if it lands on
soil that is wet and rich. Ferns and
mosses are plants that make a copy of
themselves with spores. Other plants
reproduce with seeds. They are the
second group. Seeds fall from the trees.
They become part of the soil and grow
into new plants. Evergreens, pine trees,
and fir trees are plants that reproduce
with seeds. The third group is the plant
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Choose the correct answer. Now it's time
.. some reading practice tests.

B) youto do

) for you did

D) you doing

6/40

From the marked areas 1, 2, 3 and 4,
identify the one that is wrong. You(1) look
at that(2) do(3)! It is eating a bone(4)

B)3

c)2

D)4
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into fruits to eat. The seeds are hidden
inside the fruit. Apples, oranges, cherries,
daisies, and roses are plants that have
flowers. Scientists have broken plants
into three different groups:

(@ A) vertebrates, invertebrates, and seeds.

®

C) cherries, grapes, and oranges.

D) colors, sizes, and shapes.

2440

Choose the answer which correctly
completes the sentence. One of the . ..
from ltaly.

@® A student are (§)

B) student is

D) students are
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It is important for scientists to sort
animals into groups. It just as important to
sort plants. Scientists sort them by how
they make another plant like themselves.
This is called eproduction. Scientists have
decided to sort plants into three groups.
The first group of plants reproduces with
spores. Spores are parts of the plant that
break away and travel in the wind. Each
one grows into a new plant if it lands on
soil that is wet and rich. Ferns and
mosses are plants that make a copy of
themselves with spores. Other plants
reproduce with seeds. They are the
second group. Seeds fall from the trees.
They become part of the soil and grow
into new plants. Evergreens, pine trees,
and fir trees are plants that reproduce
with seeds. The third group is the plant
that reproduces by flowering. Before
seeds can form, the pollen inside the
flower needs to move from one part of the
flower to another. The seeds form inside
the flower. Birds and insects help this by
moving the pollen when they land on the
flower. Some of the flowering plants grow
into fruits to eat. The seeds are hidden
inside the fruit. Apples, oranges, cherries,
daisies, and roses are plants that have
flowers. How do the plants that have
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Tlowers. How do the plants that have
spores reproduce?

(@ A) by pushing their roots into the ground

B) by bees moving the pollen inside the

flowers

D) by seeds falling on the ground
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Choose the best answer. | need to replace
... table in my office. Its leg is broken.

@ Wan(®)
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Thanksgiving is a holiday celebrated
predominantly in North America, and it
possesses a different meaning in each of
the countries where it's acknowledged. In
the United States, Thanksgiving is a
federal holiday (meaning all government
employees and most private employees
are given a day off of work), and always
takes places on the Fourth Thursday in
November, regardless of the date. The
holiday signifies the immense progress
made by pilgrims, or some of the first
travelers to North America, at Plymouth
Plantation circa 1621. It was at this time
that the hungry and weary Pilgrims were
taught (by Native Americans) how to grow
and produce food on North America's
unique terrain. Once they'd grown (and
caught) an abundance of food, the
Pilgrims were expectedly thankful, and
they celebrated alongside the Native
Americans who provided them with such
valuable assistance. President Abraham
Lincoln initiated the contemporary
practice of Thanksgiving by calling for a
“day of Thanksgiving" during one of his
Civil War addresses. In America today,
Thanksgiving remains firmly engrained in
its historical roots, and is widely
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cornerstone of the holiday, as doing so
could only be possible if one possesses
abundance. Where is Thanksgiving
celebrated?

@ A Only in Canada @

B) In English speaking countries

D) Only in America
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Thanksgiving is a holiday celebrated
predominantly in North America, and it
possesses a different meaning in each of
the countries where it's acknowledged. In
the United States, Thanksgiving is a
federal holiday (meaning all government
employees and most private employees
are given a day off of work), and always
takes places on the Fourth Thursday in
November, regardless of the date. The
holiday signifies the immense progress
made by pilgrims, or some of the first
travelers to North America, at Plymouth
Plantation circa 1621. It was at this time
that the hungry and weary Pilgrims were
taught (by Native Americans) how to grow
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for good food, good times, and family.

Thanksgiving dinner generally consists of
turkey, mashed potatoes, stuffing,
vegetables, gravy, and ample desserts. To
be sure, indulging in abundance is a
cornerstone of the holiday, as doing so
could only be possible if one possesses
abundance. When is Thanksgiving
celebrated in the US?

® A November 25 ()

B) Throughout November

©) The Fourth Thursday in November (4)

D) Four weeks before Christmas
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Choose the best answer. If Jack hadn't
missed the bus, he ... ate for work
yesterday.

B) would have been

C) wasn't

D) wouldn't be
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The Statue of Liberty, arguably one of
New York City's most iconic symbols, is a
\popular tourist attraction for first-time
visitors to the city. This 150-foot
monument was gifted to the United
States from France in order to celebrate
100 years of America's independence.
The statue is located on Liberty Island,
and it is accessible by taking a ferry from
either Battery Park in New York City or
Liberty State Park in Jersey City. When
Claire visited the Statue of Liberty for the
first time, she instantly admired it as a
symbol of freedom. Claire made sure to
make reservations before her visit
because only 240 people are permitted to
climb the staircase to the top of the
statue every day. After climbing almost
400 stairs, Claire received spectacular
views of the city from the statue's crown.
During her visit, Claire learned that the
Statue of Liberty was not always the color
that it is now. She found out that because
the statue's exterior is made of copper,
the statue oxidized over time, giving it the
greenish appearance it has in present
day. When it was first constructed, the
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monuments and historic landmarks. Claire
left New York hoping to have had the time
to explore more sites, but she can't wait
to return to the city in the future. What
was the Statue of Liberty intended to
celebrate?

B) Economic recovery from the Great

Depression

C) Open immigration to the United States

D) The end of the Civil War
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Choose the correct answer. If only David
.2 bit more careful, he'd have been all
right.

orm® ]
B) had been (&)

C) hadn't been

D) was
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Choose the best answer. My brother
doesn't like coffee, ... | do.

B) so

C) nor

D) neither

33/40

Choose the correct answer.... an accident
in the High Street, traffic is moving very
slowly on the London Road.

B) Since

C) Because

D) Though
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Choose the best answer. Our
conversation came to an abrupt end
when George ... the room.

B) burst out

C) burst of

D) burst with

35/40

Choose the answer which correctly
completes the sentence. Dona has got to
call the fire brigade, ..?

B) has she

D) does she
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TaIol aild amateur stieftist
photographed thousands of snowflakes
through a microscope. He was trying to
find two identical flakes. Neither he nor
anyone else ever has. Snow often melts
slowly because the white color reflects
sunlight away. The most snow in a single

storm in the United States was 189
inches. It occurred at Mount Shasta,

California, in February 1959. Antarctica is
buried in an average of two-and-a half

miles of snow. Which of the following
would be the best title for the passage?

B) “Ice and Snow”

C) "How Snowflakes Are Formed”

D) “The Heaviest Snowfall”
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Choose the answer which correctly
completes the sentence. A long distance
journey often

ravelers feel stiff,
because they ... in one position for several
hours.

® A) madefhave sat (W)

C) make/had been sitting

D) is making/are sitting
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Choose the best answer. There are ...
biscuits in the box. It was nearly empty.

@ Wafew (W)

B) alot of

D) little
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Choose the correct answer. The

underestimated demand for tickets made

the theater manager ... better for the next
performance.

B) planned

©) to plan

D) planning
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Thanksgiving is a holiday celebrated
predominantly in North America, and it
possesses a different meaning in each of
the countries where it's acknowledged. In
the United States, Thanksgiving is a
federal holiday (meaning all government
employees and most private employees
are given a day off of work), and always
takes places on the Fourth Thursday in
November, regardless of the date. The
holiday signifies the immense progress
made by pilgrims, or some of the first
travelers to North America, at Plymouth
Plantation circa 1621. It was at this time
that the hungry and weary Pilgrims were
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considered to be a day for giving thanks
for good food, good times, and family.
Thanksgiving dinner generally consists of
turkey, mashed potatoes, stuffing,
vegetables, gravy, and ample desserts. To
be sure, indulging in abundance is a
cornerstone of the holiday, as doing so
could only be possible if one possesses
abundance. Which food(s) are often
prepared for Thanksgiving dinner?

@® A stuffing (W)

B) Turkey

C) Potatoes

40/ 40

Choose the best answer. One Problem is
that we don't have ... officers on the
streets to protect people.

@® M such (§)

C) alot of

D) many





image88.png
1/40

Read the text and answer the questions
according to it. Spices were known to
Eastern peoples thousands of years
ago.Arab traders skilfully kept a secret
the true source of these spices. Spices
became valuable items of sale early in the
evolution of the spice trade and were
introduced by Arab traders to the West.
The initial uses of spices in very early
times were in medicine and in the making
of holy oils. People believed in the cure of
spices, in a powder form, in the Middle
Ages and even brought them into early
medicine. It is not known when spices
were first used in food. Certainly, the
ancient Greeks and Romans used spices
to flavour food and drinks because they
discovered that spices helped to preserve
foods, hid the flavour of spoiled meat in
part, and also brought a change of
flavour. Knowledge of the use of spices to
preserve and flavour food slowly spread
through Europe. Finally, in the last third of
the 15th century, the Europeans decided
to build ships and dared to go abroad in
search of a route to the spice-producing
countries. According to the passage, all
statements are TRUE, EXCEPT
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@ A) Spices were used in medicine in very
early times @

B) Eastern peoples have known spices for

along time

) Spices were expensive things

2/40

Read the text and answer the questions
below. Rainforests give us air. They give
us plants and animals and medicine. A
rainforest has many trees. It gets a lot of
rain. Many kinds of animals and plants
live here. Wild pigs live in rainforests. So
do snakes. It is also home to bugs and
birds. Trees here can grow to be 150 feet
tall. Plants have big, bright flowers. Some
rainforests are home to tall bamboo.
People make pills out of tree bark and
plants in the rainforest. These pills help
many people. We must save our
rainforests. Rainforests do not give us .. .

@® A plants. @

B) medicine.

| _Clbamboo, |
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D) burgers. @
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Read the text and answer the questions
according to it. She liked flowers. At least,
he remembered somebody telling him
that she liked roses. Unfortunately, at that
time of year roses were very hard to find,
and anyway, even if he did find them he
wouldn't be able to afford them. No roses
and going out to a good restaurant. So he
had got some tulps. It wasn't sure if tulips
were the right things to bring, and also
while he was traveling in the bus several
people bumped into him and the flowers
were damaged. He felt uncomfortable in
his borrowed coat, and even though Mike
had promised him that it was almost a
perfect fit he felt that the sleeves were
too long. He checked in his pocket again
to make sure he had her address. He still
was not sure why she had given it to him.
For a few minutes he thought about giving
the whole thing up, going home. But he
knew that this chance would not come
again, and he would hate himself if he did
not take it. Slowly, he walked through the
rain to her street. The character can be
best described as:
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@ A) rather angry and irritable @

B) allittle bit slow and stupid

©) verysad

D) not very confident (4)
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Read the text and answer the questions
according to it. Spices were known to
Eastern peoples thousands of years
ago.Arab traders skilfully kept a secret
the true source of these spices. Spices
became valuable items of sale early in the
evolution of the spice trade and were
introduced by Arab traders to the West.
The initial uses of spices in very early
times were in medicine and in the making
of holy oils. People believed in the cure of
spices, in a powder form, in the Middle
Ages and even brought them into early
medicine. It is not known when spices
were first used in food. Certainly, the
ancient Greeks and Romans used spices
to flavour food and drinks because they
discovered that spices helped to preserve
foods, hid the flavour of spoiled meat in
part, and also brought a change of
flavour. Knowledge of the use of spices to




image92.png
countries. According to the passage,
spices were firstused.. ...

@ A)  tomake partially spoiled meat edible

®

B) mostly in medicine and religion @

C)  tochange the flavour of foods

D) inthe West in the early Middle Ages
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Read the text and answer the questions
according to it. These days many people
often eat convenient food. This means
food which is already prepared, in packets
or cans, or often frozen. This type of food
s considered dangerous as it often
contains a lot of fat or sugar. If people eat
a lot of sugar, people might get holes in
their teeth. Similarly, if people eat a ot of
fat, this is bad for their hearts. The best
food is fresh, natural food such as fruit
and vegetables. Instead of frying food in
fat, people should boil it or eat it raw, as in
salads. Food which has been boiled often
contains many vitamins. These vitamins
are often destroyed in the process of
cooking. According to the passage, why
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B) Itiseasy and fast to eat

©) It has more sugar and fat
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Choose the answer which correctly
completes the sentence. This is a ...

movie.

® A twohours (W)

C) two hours

D) to hours

7140

Choose the correct answer. We had our
party ... 7:00 PM ... 10:00 PM.

@® A forjat (§)

B) between/until

D) since/before
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Choose the answer which correctly
completes the sentence. If a dirty spot
on the clothes cannot be removed by . . .
water and soap, pour on boiling water.

@® A warmer ()

B) warming

©) warm (&)

D) warmly
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Read the text and answer the questions
according to it. These days many people
often eat convenient food. This means
food which is already prepared, in packets
or cans, or often frozen. This type of food
s considered dangerous as it often
contains a lot of fat or sugar. If people eat
a lot of sugar, people might get holes in
their teeth. Similarly, if people eat a ot of
fat, this is bad for their hearts. The best
food is fresh, natural food such as fruit
and vegetables. Instead of frying food in
fat, people should boil it or eat it raw, as in
salads. Food which has been boiled often





